
Calculations for the « waves generated current » layer: 

Calculating steps: 

 calcul(1) 

(4 × 𝜋² × [𝑑𝑒𝑝𝑡ℎ])

([𝑝𝑒𝑎𝑘_𝑤𝑎𝑣𝑒_𝑝𝑒𝑟𝑖𝑜𝑑]² × 9.8)
 

 

 calcul(2) 

√
(𝑒𝑐𝑎𝑙𝑐𝑢𝑙(1) −  𝑒−𝑐𝑎𝑙𝑐𝑢𝑙(1) )

(𝑒𝑐𝑎𝑙𝑐𝑢𝑙(1) +  𝑒−𝑐𝑎𝑙𝑐𝑢𝑙(1))
 

 

 calcul(3) 

(9.8 × [𝑝𝑒𝑎𝑘𝑤𝑎𝑣𝑒𝑝𝑒𝑟𝑖𝑜𝑑
] ²)

(2 × 𝜋)
 

 

 calcul(4) 

𝑐𝑎𝑙𝑐𝑢𝑙(2) × 𝑐𝑎𝑙𝑐𝑢𝑙(3) 

 

 calcul(5) 

(2 × 𝜋)

𝑐𝑎𝑙𝑐𝑢𝑙(4)
 

 

 calcul(6) 

(𝑒(𝑐𝑎𝑙𝑐𝑢𝑙(5)×[𝑑𝑒𝑝𝑡ℎ]) −  𝑒(−𝑐𝑎𝑙𝑐𝑢𝑙(5)×[𝑑𝑒𝑝𝑡ℎ] )

2
  

 

 calcul(7) = final grid named “Waves generated current” 

(𝜋 ×
[𝑤𝑎𝑣𝑒_ℎ𝑒𝑖𝑔ℎ𝑡]

[𝑝𝑒𝑎𝑘_𝑤𝑎𝑣𝑒_𝑝𝑒𝑟𝑖𝑜𝑑]⁄

𝑐𝑎𝑙𝑐𝑢𝑙(6)
 

 


